Tuesday, September 20, 2016 14:27

today: gan. vs. discuminature methods linean & logistic regression

went to Learn a prediction function $f: X \rightarrow X$ | Regression prediction P(X|X) = P(X|X)P(X)prior over classes P(X|X) = P(X|X)P(X)prior over classes = P(XIX) P(X) } generative perspectives

Jass conditional also models p(X) Corditional perspecture: only models P(Y/X) (traditionally called descriminative)

gen conditional "fully disc." continuan for prediction mobil (12,4) model (14/2) model (1.4.2)

The assumptions more assumptions/ => less robust for production

Linear regression: Conditional approach to regression (YEIR)

 $p(y|x; w) = N(y|< w, x>, \sigma^2)$ parameter witz weikd yeik

equidently Y = wTX + E where $E \stackrel{\text{Indipo}}{\sim} (O_{1}O^{2})$

[aside: we'll use "offset "notation for x = (x) $x \in \mathbb{R}^d$] carolant feature bis/offset

thus wix = Widning + was

 $N(y|\mu_{l}o^{2}) = ep(-(y-\mu)^{2})$

dataset {(zi,y:); }

X; N. whilever X; IX; N. W(.w'Xi), 02)

conditional likelihood P(y1, ..., yn \x1, ..., xn) = T p(y; |x;)

Teaching Page 1

log-conditional blobbload?

$$\log p(g_{(1)}|\chi_{(1)}) = \sum_{i=1}^{n} \left[\frac{(y_i - \omega^i x_i)^2 - \frac{1}{2}\log(2\pi\sigma^2)}{2\sigma^2}\right]$$

$$\frac{\partial}{\partial \sigma^2} \left(\right) = 0$$

$$\frac{\partial}{\partial \sigma^2} \left(\frac{y_i - \omega^i x_i}{2\sigma^2}\right)^2 - \frac{1}{2}\log(2\pi\sigma^2)$$

$$\frac{\partial}{\partial \sigma^2} \left(\frac{$$

(pseudo-vineuse would choose the minimum nom IIwII solution) Lo w=xty ownered arguin 11y-xw1) problem; pseudo-inverse is not numerically stable inetted better to regularize MAP estimator trainpoint or the regularized ERM and prior over w p(w) = N(w|0, I) $\frac{1}{2}$ $\frac{1}{2$ as lettre + cst. + -> || || || || || 2 "ridge regression"

[with $||w||^2$ penalty] $\nabla_w = 0 \implies (X^{\dagger}X + \lambda I)w = X^{\dagger}y$ => WMAP = (XTX+XI) XTY -log pwly;x) is strengty contra in w => unique glabol one comment: Good practice to standardie features (x,..., xd) -> modellum empirical set man: & unit stall wounding -> put a [0:1] scale or something Logistic regression binary classification YE 2913 XEIR no assumption apart that p(x(Y=1) + p(x(Y=0)) are densities P(Y=1/X=x) = P(Y=1, X=x) P(Y=1, X=x) + P(Y=0, X=x) where $f(z) \stackrel{\triangle}{=} \log \frac{P(x=z|Y=1)}{P(x=z|Y=0)} + \log \frac{P(x=z)}{P(x=z|Y=0)}$ in general P(x=1(x=x) = O(f(x)) where f(x)

Teaching Page 3

$$O(z) = \frac{1}{1 + \exp(z)}$$

$$O(-z) = 1 - O(z) \quad [O(z) + O(-z) = 17$$

$$do(z) = O(z) (1 - O(z)) = O(z) O(-z)$$

Ser example: cancider class candibarich in the exponential family
$$O(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$(arrival promoters) \qquad linear part in M
$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$(arrival promoters) \qquad linear part in M
$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) - k(y)$$

$$o(x \mid y) = h(x) \exp(y \mid y) -$$$$$$

where $W = \begin{pmatrix} M_1 - M_0 \\ Am_0 - Am_0 \end{pmatrix} + \log_{1-n} T$ $\begin{pmatrix} V_1 \\ 1 \end{pmatrix}$ $\begin{pmatrix} \log_{1} & \log_{1} & \log_{1} \\ \log_{1} & \log_{1} \end{pmatrix}$ $\begin{pmatrix} \log_{1} & \log_{1} & \log_{1} \\ \log_{1} & \log_{1} & \log_{1} \end{pmatrix}$